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" SET-B

LEGAL APTITUDE

Q. 1. The State shall make provisions for securing just and humane conditions of work and  for
maternity relief is found
A. As a Fundamental Duty of the State.
—B. As a Directive Principle of the State Policy.
C. As a part of the Preamble to the Constitution of India.
D. Fundamental Right under Art 21 of the Constitution of India.

| @ writ of mandamus will not lie against
| A. President of India

! B. Parliament _% I \I\‘U/
| C. Local authorities

D. Courts and Tribunals

Q. 3. Where is the unwritten constitution in force?
A. Japan
B. SriLanka
C. England
| D. None of the above
Q. 4. Name the first woman advocate in India?
| A. Cornelia Sorabji
] B. Mrs. Anna Chandy
C. Mrs. Monica David
ﬂ D. None of the above
Which Article of the Constitution empowers the Supreme Court to review its own
judgments?
A. Article 137
"B. Article 143
‘. . Article 32
| D. Article 131

Q. 6. For how many years a person has to be a High Court judge to become a Supreme Court

Judge?
A.3




B.5
C.6
D. 10
Q. 7. The 'Doctrine of Eclipse' applies to:
A. Fundamental Rights violated before 1950
B. Money Bills passed without Rajya Sabha’s consent
C. Laws inconsistent with Fundamental Rights
D. Ordinances issued during parliamentary récess

Q. 8. Dower (Mahr) is a well-known branch of which law?
A. Mohammedan Law
B. Hindu Law
C. English Law
D. Parsi Law
Q. 9. A jurist can become
A. Supreme Court judge

B. High Court judge
C. Auditor General of India
D. None of the above

Q. 10. The 'Kesavananda Bharati case' (1973) is primarily associated with:

A. Right to Property

B. Basic Structure Doctrine
C. Judicial Review

D. Federalism
Q. 11. Which of the following is NOT a constitutional body?

A. Finance Commission

B. National Commission for SCs
C. Election Commission
D. NITI Aayog

Q. 12. Which constit
A. 42nd Amendment

utional amendment introduced the Anti-Defection Law?

B. 44th Amendment
C. 52nd Amendment

D. 73rd Amendment
Q. 13. The minimum gap permissible between two sessions of Parliament is




A. 3 months

B. 4 months ’

D. 9 months

originated in
A. England
Y BIUSA
C. Australia:
D. Canada
. 5 Duties and powers of the comptroller and auditor general are mentioned in which article?
A. Atrticle 137
- BT Article 149
C. Article 98
_D. Article 150 e
Q. 16. The act of lll‘nl.awﬂxlly entermg into anotper pro perty is called

-‘I Vi VU .. P

A. Triplication
B. Trover |
L = e 31 205 i3

C Breach of property
Q. 17. Mixed Economy means
A. Co-existence of small and large industries 3|
B Promotmg both Agriculture and Industries in the ecenomy

.
t.

e'i’ii:é o’t" ;;L;i;llc and prrva?b“sectors

-

= D. Co-exlstence of rich and poor
Q 18. Natrorrai Law Day in lndra IS observed on
A. 10 December e

B. 26 October |
" C. 15 November
ﬂ-%Novembern

'*«JWhat do you understand by the term legal term “habeas corpus

SIS . Ten J,b’wﬁﬁ,’ o] blaiind ylﬂp -
] Ii'at thelgo%irzpeqmre fcnG resp”'gnse

B. Easement rights to move freely.

'C. The same cause of Damage.

Q. 14. The concept of Public Interest Litigation, which has become quite popular in India,




D. A claim on legal grounds.

—

| r@\ hat is meant by the Legal Maxim/word “jus cogens™?

A. Law of community

B. International Law

C. Compelling law

D. Law coherent with Municipal Law
Q. 21. What is meant by the Legal Maxim “non compos mentis™?

A. body recovered from crime scene which is not fully decomposed.

B. Not in possession of one’s mind

C. Body not in a decomposed state of condition

D. None of'the above.
Q. 22. Principal: An offer can be accepted only when the acceptor has knowledge of such offer.
Facts: Mr. Arpit offers to pay a reward of Rs.10,000, to anyone who finds his watch, Mr.
Mithilesh, without knowledge of the offer made by Mr. Arpit, finds and returns the watch.

Which of the following derivation is CORRECT?

A. Mr. Mithilesh can claim the reward offered by Mr. Arpit, because he finds and returns
the watch.

B. Mr. Mithilesh cannot claim the reward amount as the offer made by Mr. Arpit was
frivolous.

C. Mr. Mithilesh cannot claim the reward because he did not have knowledge of the offer
made by Mr. Arpit.

D. None of the above

Q. 23. Principle: According to the law of trade unions in India, no suit or other legal proceeding
shall be maintainable in any civil court against any registered trade union or any officer or
member thereof in respect of any act done in contemplation or in furtherance of a trade dispute.
Facts: Soloman, the Secretary of a registered Trade Union took a loan from a Bank for the
higher education of his daughter. Soon after completing the course she was married to an NRI
Engineer. Solomon did not repay the loan. The Bank demanded the payments from Soloman
and warned him that the Bank will take suitable legal action against him.
Which of the following derivation is CORRECT?

A. The Bank can file a suit for recovery of the loan amount against Soloman as he took the

loan for a personal purpose and in such case no immunity will work.




B. ’-1- 'ank can recover the loan amount from the Trade Union as Soloman is the Secretary
f’iié Union.
@ 5 T he Bank cannot initiate any action against Soloman as he is the Secretary of a Registered
| im'l' rade Union.
' As Soloman did not use the loan amount for his use and hence, no action can be initiated

~against him.

9 24 Principle: The Constitution of India guarantees certain fundamental rights to its citizens.
. :l‘he Constitution also provides that these rights cannot be taken away by state even by a law.

j.Bor'violation of this, the person adversely affected by the law may approach the High Court or

~ the Supreme Court for the issuance of an appropriate writ. One of these rights includes the

£ ~ freedom to form association that implies the right to join an association or not to join such an

association.
Facts: Owing to some industrial disturbances created by XATu; one of the several trade unions
in AB Chemicals (Pvt) Ltd., the Company issued a circular to all its employees that as far as
possible the employees may disassociate with XATU. Navin is an employee of AB Chemicals
and the current General Secretary of XATU. Aggrieved by this circular, which affected the

fundamental rights of his and other members of the Union, approaches the High Court of the

~ state for a relief,

~ Identify the most reasonable legal proposition.

A. The Company’s circular is illegal and has to be quashed by the Court.

B. the rule on restricting fundamental rights only applies to the state and not to

: indnvnduals and hence Navin will not get any relief from the High Court.

, : i O Circular issued by a !nts to law,mmﬁe%"eonstntutnonal sense and hence
the Hig OLH E,an issue afwmt as pleaded for |

=N

@ompany am@

| m i % "D The circular interferes with the freedom guaranteed by the Constitution and hence the

1**'“-
% ngh Court can issue an appropriate writ.
f’o 5! Prmcnple. An agreement to do an impossible act is void. 15 Sk A

Rajam agrees with Mr. Bala to discover treasure by magic.

h the followmg derivation is CORRECT?

B. The- act;«ls not voxd because nt is not forbidden by law.

J[ﬂ —

s il
" N 4 " — {r o

’fif v ‘“ ;I,\ *'/”,G l ‘*\“‘ U "v‘”’!l:; gu(«wu(m{ﬁs‘{ia‘ a :51'\37:7” lvl’p D¢ W‘




. stake of fact essential to the contract, the contract

.

E S TR 7

; ‘B. Voidable
~ C. Valid
~ D. None of these Prohibition
: “27 . Which of the following is not a Fundamental Right?

| C. Right to religion
D. Right against Exploitation
= - Q. 28. Malimath Committee is associated with reforms in the field of
A. Education
B. Domestic relations.
_ - C. Labour Welfare
| u '} D. Criminal Law

’ commnssuon of an oﬁ'ence lS known as

A. Abettor TR
| ~ B.Instigator (’i“: . [ i
| | F .fAccomphce[é g T
." | k- o

BN D Friend | j il
A\ * . 30. A friend of the court ort
‘ ~ A. Animus
niB‘Amncus Curiae
C. Interrorem
b D. Jurisetdejure
| | Q. 31. Who chaired the F rst " ‘l Commission thal
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A. Warren Hastmg d

w
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B Wllllam Bentmck




Q. 32. What is the main objective of the United Nations Framework Convention on Climate

Change (UNFCCC)
A. Decrease of oxygen
B. Stabilization of greenhouse gases
C. Increase of greenhouse gases
D. Increase of temperature

Lis Pendens’ means:

A. Awaited information

B. On the basis of evidence

C. Decision awaited

D. A pending suit
@POTA stands for

A. Prohibition of Terrorists Act

B. Prohibition of Toxic Aid

C. Prevention of Terrorism Act

D. Prevention of Terrorism and Atrocities
. Which of these systems is followed in India?

A. Adversarial System

_B Judicial System
C. Inquisitorial System

D. None of these
Q. 36. Which of the following is the oldest High Court in India?

A. High Court of Madras
B. High Court of Calcutta
C. High Court of Delhi

D. High Court of Allahabad

Q. 37. Private International Law is also called.
A. Civil Law
B. Local laws
C. Conflict of laws
D. Common law

Q. 38. Tort is a violation of

A. aright in personam




B. aright in rem

ight i ight inr Q. AA.
C. Both right in personam and a right in rem
ight | the st
D. Neither a right in personam nor a right in rem
65, v

Q. 39. What is a ‘caveat’?
A. A warning
B. An injunction
C. Writ
D. Certiorari
Q. 40. The International Criminal Court is established by the

A. London Declaration
B. Rome Statute
C. Paris Conference

D. New York Convention

NUMERICAL ABILITY

Q. 41. The HCF and LCM of two numbers iue 12 and 720, respectively. 1f one of the numbers
is 60, what is the other number? \ 2 ?1\931
A. 72 '; 6,2;0 \ ‘{—\_\_\:8
B. 120 S -«rzé %
G 144 ﬁt\‘o <520 & 6

D. 180
Q. 42. A can do a piece of work in 80 days. He works at it for 10 days and then B alone finishes

the remaining work in 42 days. In how much time will A and B working together, finish the :

work? 36 ."Ls \

A. 20 days SN [

B. 25 days LR NG
C. 30 days

D. 40 days

Q. 43, A dealer sold three-fourth of his articles at a gain 0£20% and the remaining at cost price.

Find the gain earned by him in the whole transaction.

A, 15%
B. 20% @

G525

D. 5%




(:1:1 4"”Th3 mean of the marks obtained by 100 students is 60. If the marks obtained by one of
leistudents were incorrectly calculated as 75, whereas the actual marks obtained by him were

5*?“”what are the marks obtained by the students?
CAL59. o {000

 B.58.50 B .
BRGS0 2 Q% NSLS
”’ None o ,*the above '\q :qq e
45 19:99:x19:95+9.99 =42 i , | M
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}, Q. 46. 10 womefw/dan complete a work in 8 days and 10 children take 12 days to complete the
- work. How many days will 6 women and 3 children together take to complete the work?
e —g..;“ s |® xv& -~ _sl_-;_
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4 . 47. If the numerator of a fraction is increased by 200% and the denominator of the fraction

is mcreased by 150%, the resultant fraction is 9/ 10. What is the ongmal fraction?

A 5/12*%*“ ) "é rS |
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D. None of these

Q. 50. A mixture contains alcohol and water in the ratio 4:3. If 5 litres of water is added to the
mixture, the ratio becomes 4:5. Find the quantity of alcohol in the given mixture.
A. 20 litres 16,7
B. 15 litres \0- i
€. 10 litres
D. 8 litres
GENERAL ENGLISH

SYNONYM
Directions: In each of the following questions, the first word is given in capital letters
followed by four alternative words. Select from the alternatives the word nearest in the

meaning to the word given.
Q.51. ILLEGIBLE
A. Readable
B. Lucid
C. Understandable
D. Indecipherable
Q. 52. NON ENTITY
A. Cipher
B. Substance
C. Body
D. Individual
Taciturn
A. Talkative
B. Reserved
C. Rebellious
D. Aggressive
, MANTLE
JA. Cloak
B. Clock

C. Mettle
D. Metal
Q. 55. DEFIED




A. Accepted
B. Confront
C. Considered
D. Joined

Q. 56. GRIT
A. Courage

B. Apparent
C. Determination
D. Obvious
ONE WORD SUBSTITUTION
Direction: The following sentences can be replaced with one word from the options given

below them. Choose the correct word and mark them as correct answer.

@ Food which agrees with one’s taste

A. Pungent
_B. Palatable
C. Sensuous
D. Edible
Q. 58. Design made by putting together colored pieces of glass or stones
A. Oleograph
B. Relies

C. Tracery

D. Mosaic
9 Q. 59. An act of deliberately setting fire to property

A. Sabotage
' B. Treason
C. Homicide
D. Arson
Q. 60. A government by the wealthy people

A. Aristocracy
B. Oligarchy
C. Plutocracy
D. Democracy

Q. 61. The study and collection of postage stamps is called

A. Thremmatology

{]




B. Timbrology
C. Tidology
D. Threpsology

Q. 62. A person who is indifferent fo pleasure or pain

A. Egoist
B. Optimist

C. Pessimist

D. Stoic
Directions: Given below are a few commonly used foreign language phrases. Choose the

correct meaning out of the four choices given:
Q. 63. Doli incapax
l A. New law
| B. An overruled decision
C. Incapable of crime
D. A new judge
Q. 64. Volenti non fit injuria
A. A person must do an act willingly

| B. Violence is never the answer

C. A willing victim cannot claim any damages
D. Consent is never a defence

Q. 65. Actus reus

A. The guilty mind | ’
B. Moral guilt [
C. A feeling of guilt [
D. The guilty act

Q. 66. Ultra vires

A. Within powers

B. Beyond powers

C. Full powers
D. Near powers
Q. 67. Ex officio

A. By virtue of previously held position

B. Former official




C. By virtue of office
D. Outside the office
Q. 68. Corpus juris
A. Body of judges
B. Group of jurists

G Body of law

D. knowledge of law

SENTENCE COMPLETION

Directions: Complete the following sentences with the most appropriate word.

Q. 69. People draft to regulate their affairs in a safc way.

A. Agreements
B. Documents
C. Instruments
D. Contracts
Q. 70. The administration of justice must be based on
A. Equity
B. Fairness
C. Rule of law
D. All of the above

Q. 71. Rajeev failed in the examination because none of his answers were to the

questions asked.

A. Allusive
B. Revealing
C. Pertinent
D. Referential

Q. 72. There are views on the issue of giving bonus to the employees.

A. Independent
B. Divergent
C. Modest

D. Adverse

Q. 73. Man who has committed such an ~crime must get the most severe punishment.

A. Injurious




E}, Unchantable
C.*Unwo rthy

74 He has people visiting him at his house because he fears it will cause

discomfort to neighbors

A Curtailed

—fB Requested
.. ._ ~ C. Stopped
B D. Warlied '

| ANTONYMS
% Dlrect10n5° Each of the following items consists of a word in caprtal letters, followed by four

5 words or group of words. Select the word or group of words that is farthest in meaning to the
7 . word in capital letters.
~ Q.75.0BSCURE
A. Vague
3 B. (’6 e
cfH.dden
E’ Compl ﬂ(ﬁ
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Q. 79. CELE
A. Lack
B. Silen
C. Victo
D. Slugg

Q. 80. TAMI
A. Wild
B. Clean
C. Dange
D. Active




Q. 79. CELERITY
A. Lack of wisdom
B. Silence
C. Victory
D. Sluggishness
Q. 80. TAME
A. Wild
B. Clean

C. Dangerous
D. Active

CURRENT AFFAIRS

Who won the 2024 Saraswati Samman for literature in India?

A. Gulzar

B. Bhadreshdas Swami
C. M. Veerappa Moily
D. Dr. Mahadevi Verma

Q. 82. Which Indian state became the first to implement a Uniform Civil Code in 20247
A. Gujarat
B. Haryana
C. Assam
D. Uttarakhand

Q. 83. Who was given the Dadasahcb Phalke Award in 20247

A. Mithun Chakraborti
B. Vinod Khanna

"

C. Ajay Devgan
D. Kader Khan

Q. 84. The world’s first artificial intelligence lawyer, a robot, is named as

E: A. Watson
R B. IBM-LaBrain
C. Boss
D. Ross

Q.85. Which is the first city in India to use 100% renewable energy during daytime

{8




\ A. Pudducherry
| B. Daman

C. Diu

l D. Sikkim

Q.86. Presently who is the Chief Information Commissioner by the Government of India?

x A. Raghav Sanghvi
B. Sudhir Bhargava
C. Ajay Mishra

D. Heeralal samariya

Q.87. Which Indian space mission achieved its first successful test flight for a reusable launch
vehicle in 20247

A. Pushpak
B. Gaganyaan
: C. Chandrayaan-4
D. Vyommitra |
Q. 88. Who took charge as the Chief Justice of India on November 11 , 20247

, A. Bhushan Ramkrishna Gavai
B. Ranjan Sanghvi
C. Sanjeev Khanna
D. P. S. Narasimha

Q. 89. Who was awarded the Padma Vibhushan in the field of literature and education in 20252

A. Ruskin Bond

B. Chetan Bhagat

C. Vikram Seth

D. M. T. Vasudevan Nair

Q. 90. What significant trade agreement did India sign with the European Free Trade
Association (EFTA in 20242

A. Free Trade Agreement (FTA)
B. Trade and Economic Partnership Agreement (TEPA)

C. Bilateral Investment Treaty

D. Strategic Trade Cooperation Agreement

J A




Q. 91. Which city in India maintained its position as the cleanest city according to the Swachh
Survekshan rankings in 20247
A. Indore
B. Surat
| C. Bhopal
D. New Delhi
Q. 92. Who took the oath as the Chief Minister of Jharkhand in November 20247
A. Raghubar Das
B. Hemant Soren
C. Babulal Marandi
D. Arjun Munda
Q. 93. The Union Cabinet cleared a revised production-linked incentive (PLI) scheme for I'T
' hardware with an outlay of how many crores?
A. %15,000
B. 216,000
C. X17,000
D. 18,000

Q. 94. The book “India@100: Envisioning Tomorrow’s Economic Powerhouse™ has been

authored by whom?
A. Amrish Tripathi
B. Hamid Ansari
C. Shashi Tharoor
D. Krishnamurthy Subramanian.

Q. 95. ‘World Happiness Report 2024’ ranked which country as the happiest country?

A. Finland
B. Denmark

C. Switzerland

D. Iceland

Q. 96. Recently, the government has decided to form how many new Farmer Producer

Organizations (FPOs) in the cooperative sector?
A. 1,100
B. 1,200
Ci 1,300




D. 1,500

Q. 97. PM-SURAJ’ portal is related to:

A. Solar energy

B. Startup funding

C. Social welfare schemes for marginalized communities

D. Digital education
Q. 98. At what amount did METRO AG sell India Cash & Carry to Reliance Retail?

A. %2,673 Crore
B. 22,870 Crore
C. 22,539 Crore
D. 22,850 Crore

B. Digital India

C. Viksit Bharat at 2047
D. Make in India
Q. 100. Which Indian film won the Best Feature Film award at the 70 National Film Awards?

A. “RRR”
B. “Aattam”

C. “The Kashmir Files”

D. “Jhund”

A. Poland
B. Hungary

C. Romania

D. Bulgaria

A. 59th
B. 49th
C. 39th
D. 45th

A. Imphal, Manipur
B. Jalandhar, Punjab

Q. 99. What was the theme of the 43rd India International Trade Fair 20247
A. Aatmanirbhar Bharat

Q. 101. Which country recently passes law to adopt the euro as its official currency?

Q. 102. What is India’s rank in the Network Readiness Index (NR1) 20242

Q. 103.Where was the 108th Indian Science Congress held?

| 8

C. Nagpur,
D. Mysuru,

Q. 104. ‘One N

A. Narendr
B. Amit Sh
C. Ram Na
D. Rajnath
Q. 105. CRISP
20247
A. Cancer
B. HIV
C. Alzhein
D. Sickle ¢

Q. 106. Who w
A. Joko W

B. Prabow

C. Ganjar

D. Anies I

Q. 107. India’s

A. Delhi-]

B. Kolkat

C. Chenn:

D. Mumb

Q. 108. Whicl
A. India

B. Englar

C. Austra

D. New Z

Q. 109. Who

A. Novak

B. Carlos

C. Jannik

D. Danii

Q. 110. Whic




C. Nagpur, Maharashtra

| D. Mysuru, Karnataka
| Q. 104. ‘One Nation, One Election’ Committee in India is headed by:

A. Narendra Modi

B. Amit Shah
j' C. Ram Nath Kovind

D. Rajnath Singh

Q. 105. CRISPR gene-editing technology was used for the first time to treat which disease In

} 20247
| A. Cancer
B. HIV
C. Alzheimer

D. Sickle cell anemia

e —— —
e ———
— —

Q. 106. Who was elected as the President of Indonesia in 20247
A. Joko Widodo

B. Prabowo Subianto

| C. Ganjar Pranowo

| D. Anies Baswedan

;‘ Q. 107. India’s first bullet train project is between which two cities?
l A. Delhi-Mumbai

B. Kolkata-Guwahati

C. Chennai-Bangalore

D. Mumbai-Ahmedabad
Q. 108. Which country won the 2023 ICC Cricket World Cup?

T——y

A. India
B. England
C. Australia
D. New Zealand
Q. 109. Who won the Australian Open 2024 (Men’s Singles)?
A. Novak Djokovic
B. Carlos Alcaraz
C. Jannik Sinner

D. Daniil Medvedev
Q. 110. Which country will host the next Olympics n?

{7




A. Canada
B. U.S.A.
C. China

D. France

@T he "Vijayanagara Empire” was established in which century?

A. 10th century
B. 12th century

C. 14th century
D. 15th century

he Bhakti-Sufi syncretism is best exemplified by:
A. Akbar’s Din-i-Ilahi

B. Guru Nanak’s Langar system
C. Kabir’s critique of both Hindu and Islamic orthodoxy
D. Tulsidas’ Ramcharitmanas

Q. 113. The famous Dilwara Temples are situated in

A. Uttar Pradesh
B. Madhya Pradesh
C. Maharashtra
D. Rajasthan
@\1 uclear sizes are expressed in a unit named
A. Fermi
B. Angstrom
C. Newton
D. Tesla
Q. 115. Light year is a unit of
A. Distance
B.Time
C. Light
D. Intenisity of light

Q. 116. Which part of the human brain controls balance and posture?

A. Cerebrum
B. Cerebellum
C. Medulla




D. Hypothalamus
Q. 117. Who invented the BALLPOINT PEN?
A. Biro Brothers
B. Waterman Brothers
C. Bicc Brothers

D. Write Brothers
Q. 118. Defence Research and Development Organization [DRDO] day is celebrated on?

A. January |
B. January 2
C. January 3
D. January 4
Q. 119. The chemical formula of common salt is:
A. NaOH
B. HCI
C. NaCl
D. H2SOx

Q. 120. East Siang District is located in which state?
A. Arunachal Pradesh

i B. Sikkim

C. Meghalaya

D. Nagaland
( Q. 121. Golf player Vijay Singh belongs to which country

A. India
]’ B. USA
‘ C. Fiji
i D. Canada
Q. 122. Which Country develops its own 'Mother of All Bombs*?

A. Russia
B. China

C. USA

D. Germany

Q. 123. Depreciation means

A. Closure of a plant due to lock out




B. closure of a plant due to labour trouble
C. Loss of equipment over time due to wear and tear
D. destruction of a plant in a fire accident

Q. 124. India changed over to the decimal system of coinage in
A. April 1995
B. April 1957
C. April 1958
D. April 1959

The Karewa deposits of Kashmir, crucial for saffron cultivation, are:
A. Glacial moraines
B. Lacustrine (lake) deposits

_C. Volcanic ash layers
D. Aeolian (wind-blown) sands
Q. 126. Which seil has self-ploughing properties due to deep cracks in dry seasons?

A. Laterite
B. Alluvial soil
C. Black soil
D. Red soil

Q. 127. The book “India wins freedom” has been authored by whom?
A. Maulana Abul Kalam Azad - |
B. Hamid Ansari
C. Dr. Zakir Hussain
D. Pundit Jawahar Lal Nehru
Q. 128. The Battle of Haldighati was fought in
A. 1526
B. 1576
C. 1748
D. 1764
Q. 129. ‘Injeel’ are sacred books of
A. Buddhists
B. Parsi
C. Christian

D. None of the above
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Q. 130. The Great Sahara Desert is located in
A. North America
B. South America
C. Australia
D. Africa
Q. 131. The SI unit of electric current is
A. Volt
| B. Ohm
C. Ampere
D. Watt

Q. 132. Which gas is most abundant in the Earth’s atmosphere?

A. Oxygen

B. Carbon dioxide
C. Nitrogen

D. Argon

mRNA vaccines (like Covishield) differ from traditional vaccines by:

A. Using weakened viruses
~B. Delivering genetic instructions for spike proteins
C. Being orally administered

D. None of the above

Q. 134. Mahatama Gandhi had launched his first Satyagraha in India from which among the

' following places?
A. Kheda
B. Bardoli
C. Champaran
D. Sabarmati
Q. 135. Bagdogra International Airport is located at which state?
A. Maharashtra
B. West Bengal
C. Lakshadweep

D. Odisha
Q. 136. The purpose of Kyoto Protocol is

> D

A. to promote tourism

25




C. Operating System
D. Assembler
Q. 143, Earth is also known as the
A. Blue planet
B. Red Planet
C. Brown Planet
D. Green Planet
Q. 144. The Currency of Laos is
A. Kip
B. Baht
C. Lira
D, pesela
Q. 145, Parliament of India consists of
A. Council of States
B. President, House of the People and Council of States
C. House of the People and Council of States
D. House of the People
Q. 146. The person respon
A. Jawaharlal Nehru
B. P.C. Mahalanobis
C. Tarlok Singh
D. V.T. Krishnamachari
Q. 147. vande Mataram is composed by
A. Rabindranath Tagore
B. Sharatchandra Chatterji
c: Bankimchandra Chatterje¢
D. Surendmnath Baneti

Q. 148. The «poctrine of Lapse” was introduced by:

A. Lord Dalhousie
B. Lord Curzon

C. Lord Mountbatten
D. Lord Wwellesley
Q. 149. Article 1 of Indian Constitution defines India as

A. Federal State

sible for economic model for Indian Planning:
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